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​find_pair(int	N,	int[]	U,	int[]	V,	int	A,	int	B) ​
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find_pair

​int64	ask(int[]	w) ​
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w[i] w[i]

w[i]	=	0
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w

find_pair

​answer(int	s,	int	t) ​

t s

Wrong	Answer
ask Accepted

find_pair(4,	[0,	0,	0,	1],	[1,	2,	3,	2],	1,	3)

ask
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ask([0,	0,	0,	0])

ask([0,	1,	1,	0])

ask([1,	0,	1,	0])

ask([1,	1,	1,	1])

ask([0,	0,	0,	0])

answer(3,	1) answer(1,	3) find_pair
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ask Accepted

Accepted Accepted:	q q
ask

Wrong	Answer Wrong	Answer:	MSG MSG

answered	not	exactly	once answer
w	is	invalid w ask w[i]

more	than	100	calls	to	ask ask
{s,	t}	is	wrong answer s t
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